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Arthur was determined that Mark was not going to end up working on the shop-floor of a car factory for the rest of his life. He put in hours of overtime to earn enough money to ensure that the boy could have extra tuition in maths, general science and English. He fell well rewarded when the boy passed his eleven-plus and won a place at King Henry VIII Grammar School, and his pride did not falter when Mark went on to pass five O-levels and two years later added two A-levels.
Arthur tried not to show his disappointment when, on Mark's eighteenth birthday, the boy informed him that he did not want to go to university.
'What kind of career are you hoping to take up then, lad ?' Arthur enquired.
'I've filled in an application form to join you on the shop-floor just as soon as I leave school.'
'But why would you ...'
'Why not ? Most of my friends who're leaving this term have already been accepted by Triumph, and they can't wait to get started.'
'You must be out of your mind.'
'Come off it, Dad. The pay's good and you've shown that there's always plenty of extra money to be picked up with overtime. And I don't mind hard work.'
'Do you think I spent all those years making sure you got a first-class education just to let you end up like me, putting wheels on cars for the rest of your life ?, Arthur shouted.
'That's not the whole job and you know it, Dad.'
'You go there over my dead body,' said his father. ' I don't care what your friends end up doing. I only care about you. You could be a solicitor (1) an accountant, an army officer, even a school master. Why should you want to end up in a car factory ?'
'It's better paid that schoolmastering for a start,' said Mark.
'My French master once told me he wasn't as well off as you.'
'That's not the point, lad ...'
'The point is, Dad, I can't be expected to spend the rest of my life doing a job I don't enjoy just to satisfy one of your fantasies.'
'Well, I'm not going to allow you to waste the rest of your life,' said Arthur, getting up from the breakfast table. 'The first thing I'm going to do when I get in to work this morning is see that your application is turned down.'
'That isn't fair, Dad. I have the right to ... '
But his father had already left the room, and did not utter another word to the boy before leaving for the factory.
For a week father and son didn't speak to each other.' 

'A la carte' , Jeffrey ARCHER
(1) a solicitor = un notaire





I - Compréhension
1 - Who are the characters ? (names and relationship)
2 - Tick the right answer
a) The conversation takes place :
[image: image2.wmf]on the shopfloor 

[image: image3.wmf]at home
[image: image4.wmf]in a restaurant
[image: image5.wmf]at King Henry VIII Grammar School
b) It takes place :
[image: image6.wmf]in the morning
[image: image7.wmf]at lunchtime
[image: image8.wmf]at bedtime
[image: image9.wmf]in the afternoon
c) Mark intends to :
[image: image10.wmf]go to university 

[image: image11.wmf]become a teacher
[image: image12.wmf]work in a factory
[image: image13.wmf]join the army
3 - All these statements are true. Justify by quoting from the text (2 quotations for each statement) 

a) Mark had always been a successful pupil. 

____________________________________________________________________________________
____________________________________________________________________________________ 

b) Arthur did his best to help him get a good education.
____________________________________________________________________________________
____________________________________________________________________________________ 

c) As long as Mark was at school, Arthur had every reason to be proud of his son.
____________________________________________________________________________________
____________________________________________________________________________________ 

4 - What is the meaning of these words in the text. Match the words and their meanings
1) overtime (l.2)
2) tuition (l.3)
3) well off (l.25)
4) turn down (l.31)
5) utter (l.33)
a) refuse
b) lessons
c) extra hours
d) say
e) rich
f) expensive
g) period
	1 __________________________________
	__________________________________ 

	2 __________________________________
	__________________________________ 

	3 __________________________________
	__________________________________ 

	4 __________________________________
	_________________________________ 

	5__________________________________ 
	__________________________________ 





5 - True or false ? Justify your answers with brief quotations :
a) Arthur didn't mind when his son told him he didn't want to go on studying
[image: image15.wmf]true [image: image16.wmf]false
____________________________________________________________________________________ 

b) Arthur works for Triumph, a car manufacturer.
[image: image17.wmf]true [image: image18.wmf]

false
____________________________________________________________________________________ 

c) All of Mark's friends are looking forward to going to university.
[image: image19.wmf]true [image: image20.wmf]false
____________________________________________________________________________________ 

d) Mark had already chosen his career when he told his father about his decision.
[image: image21.wmf]true [image: image22.wmf]false
____________________________________________________________________________________ 

e) Arthur had another ambition for Mark. 

[image: image23.wmf]true [image: image24.wmf]false
____________________________________________________________________________________ 

6 - Pick out four different arguments used by Mark to support his decision :
____________________________________________________________________________________ 

____________________________________________________________________________________ 

____________________________________________________________________________________ 

____________________________________________________________________________________ 

7 - Find the two sentences used by Arthur which show he is totally opposed to Mark's plans.
____________________________________________________________________________________ 

____________________________________________________________________________________ 




II - Expression personnelle
Answer the two questions
1) Why do parents sometimes try to influence their children in their choice of a job ? Do you think it is a good way of helping them ? (100 words) 

2) What kind of career are you hoping to take up ? Why ? (100 words)
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